VEVOR'

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support

Server Rack Shelf

Model: SPT-U300-1A/SPT-U300-2A

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

VEVOR® Server Rack Shelf

TOUGH TOOLS, HALF PRICE

SPT-U300-1A SPT-U300-2A

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.

.| Warning-To reduce the risk of injury, user must read
instructions manual carefully.

|
\

/ Y
A\




SPECIFICATION DATA

Name Server Rack Shelf
Model SPT-U300-1A SPFT-U300-2A
Material Cold Roll Steel
Color Black
Installation Width 19"
Standard
Depth 10" 16"
Mounting Height 1u 2U
Max weight
/
Capacity 22 kg/50 Ibs
Product Size H " x
(LWH) 480%250*43mm 480%410*30 mm
Quantity Per
Package PP ez
Product Weight 3.10Kg 2.45Kg
10 x M6 cage nuts; 6 x M6 cage nuts;
Accessories 10 x MG6*12 cross head screws; | 6 x MG6%12 cross head screws;
1 x Instruction manual. 1 x Instruction manual.




SYSTEM REQUIREMENTS

® EIA-310 compliant 19 inch server rack/cabinet.

® At least 1U(for SPT-U300-1A) and 2U(for SPT-U300-2A) of available
space in rack/cabinet to mount shelf.

® |[f using a rack/cabinet that does not use square mounting points along
the posts,the appropriate mounting hardware for the rack will be
required(consult documentation for the rack or contact the
manufacturer).

INSTALLATION

1. Locate a suitable location in the rack/cabinet to mount the shelf.

The shelf itself requires 1U(for SPT-U300-1A) and 2U(for SPT-U300-2A) of
space within the rack/cabinet.

2. If the rack uses square mounting holes,install the included cage nuts
into the square mounting holes on the front posts of the rack.

3. Place the shelf into the rack and align the mouting points on the front of
brackets of the shelf with the mounting points on the rack(for example,the
cage nuts,if used).

4. Use the provided cabinet screws to secure the shelf to the rack.if not
using the included cage nuts or M6 threaded rack posts,the appropriate
mounting hardware for the rack should be used.

Make sure that the screws are properly tightened and the shelf has no
movement before attempting to place anything on the shelf.be sure to
observe the maximum weight capacity of the shelf.

VEVOR

TOUGH TOOLS, HALF PRICE
Technical Support and E-Warranty Certificatewww.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie
électronique www.vevor.com/support

Etagére de rack de serveur

Modeéle : SPT-U300-1A/SPT-U300-2A

Nous continuons a nous engager a vous fournir des outils a des prix compétitifs.

"Economisez la moiti¢", "Moitié prix" ou toute autre expression similaire que nous utilisons ne représente
qu'une estimation des économies dont vous pourriez bénéficier en achetant certains outils chez nous par rapport
aux grandes marques et ne signifie pas nécessairement couvrir toutes les catégories d'outils proposés. par nous.

Nous vous rappelons de bien vouloir vérifier attentivement lorsque vous passez une commande chez

nous si vous économisez réellement la moitié par rapport aux grandes marques.



Machine Translated by Google

VEVOR
Etagére de rack de serveur

TOUGH TOOLS, HALF PRICE

SPT-U300-1A SPT-U300-2A

BESOIN D'AIDE? CONTACTEZ-NOUS!

Vous avez des questions sur les produits ? Besoin d'une assistance technique ? N'hésitez pas
a nous

contacter : Support technique et certificat de garantie électronique
www.vevor.com/support

Il s'agit des instructions originales, veuillez lire attentivement toutes les instructions du

manuel avant de l'utiliser. VEVOR se réserve une interprétation claire de notre manuel d'utilisation.
L'apparence du produit dépend du produit que vous avez regu. Veuillez nous pardonner

que nous ne vous informerons plus s'il y a des mises a jour technologiques ou logicielles sur notre

produit.

Avertissement : Pour réduire le risque de blessure, I'utilisateur doit lire

)

N 4

attentivement le manuel d'instructions.

[
N




Machine Translated by Google

PECIFICATION DA

DONNEES DE SPECIFICATION

Name Server Rack Shelf
Model SPT-U300-1A SPT-U300-2A
Material Cold Roll Steel
Color Black
Installation Width 19"
Standard
Depth 10" 16"
Mounting Height 1U 2U
Max weight
Capacity 22 kg/50 Ibs
Product Size 2ENE x,
(L"W'H) 480*250*43mm 480*410"80mm
Quantity Per
Package G L
Product Weight 3.10Kg 2 45Kg
10 x M6 cage nuts; 6 x M6 cage nuts;
Accessories 10 x M6*12 cross head screws; | 6 x M6*12 cross head screws;
1 x Instruction manual. 1 x Instruction manual.




Machine Translated by Google

CONFIGURATION REQUISE

Rack/armoire de serveur 19 pouces conforme a la norme
EIA-310.  Au moins 1U (pour SPT-U300-1A) et 2U (pour SPT-U300-2A) de
espace dans le rack/armoire pour monter I'étagere.
Si vous utilisez un rack/armoire qui n'utilise pas de points de montage carrés le long
les poteaux, le matériel de montage approprié pour le rack sera
requis (consulter la documentation du rack ou contacter le

fabricant).

INSTALLATION

1. Trouvez un emplacement approprié dans le rack/armoire pour monter I'étagere.

L'étagere elle-méme nécessite 1U (pour le SPT-U300-1A) et 2U (pour le SPT-U300-2A) de
espace dans le rack/armoire.

2. Si le rack utilise des trous de montage carrés, installez les écrous cage fournis.

dans les trous de montage carrés sur les montants avant du rack.

3. Placez I'étagere dans le rack et alignez les points de montage a I'avant de

supports de I'étagére avec les points de montage sur le rack (par exemple, le

écrous cage, le cas échéant).

4. Utilisez les vis d'armoire fournies pour fixer I'étagére au rack. Sinon

a l'aide des écrous a cage inclus ou des poteaux de rack filetés M6, le approprié

le matériel de montage pour le rack doit étre utilisé.

Assurez-vous que les vis sont correctement serrées et que I'étagére n'a pas
mouvement avant d'essayer de placer quoi que ce soit sur I'étagére. assurez-vous de

respecter la capacité de poids maximale de I'étagére.

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie électroniquewww.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat
WWW.vevor.com/support

Server-Rack-Regal

Modell: SPT-U300-1A/SPT-U300-2A

Wir sind weiterhin bestrebt, lhnen Werkzeuge zu wettbewerbsfahigen Preisen anzubieten.
~Sparen Sie die Halfte*, ,Halber Preis“ oder andere ahnliche Ausdriicke, die wir verwenden, stellen nur eine
Schatzung der Ersparnis dar, die Sie beim Kauf bestimmter Werkzeuge bei uns im Vergleich zu den groRen
Topmarken erzielen kénnen, und decken nicht unbedingt alle von uns angebotenen Werkzeugkategorien ab. Wir
mochten Sie freundlich daran erinnern, bei lhrer Bestellung bei uns sorgféltig zu prifen, ob Sie im Vergleich
zu den groRBen Topmarken tatsachlich die Halfte sparen.



Machine Translated by Google

®
U EVOR Server-Rack-Regal

TOUGH TOOLS, HALF PRICE

SPT-U300-1A SPT-U300-2A

Brauchen Sie Hilfe? Kontaktieren Sie uns!

Haben Sie Fragen zum Produkt? Bendtigen Sie technischen Support? Bitte kontaktieren Sie uns:

Technischer

Support und E-Garantie-Zertifikat www.vevor.com/support

Dies ist die Originalanleitung. Bitte lesen Sie alle Anweisungen sorgfaltig durch, bevor Sie

das Gerat in Betrieb nehmen. VEVOR behdlt sich eine klare Auslegung unserer Bedienungsanleitung
vor. Das Erscheinungsbild des Produkts richtet sich nach dem Produkt, das Sie erhalten

haben. Bitte verzeihen Sie uns, dass wir Sie nicht erneut informieren, wenn es Technologie- oder

Software-Updates fur unser Produkt gibt.

Warnung: Um das Verletzungsrisiko zu verringern, muss der Benutzer

)

N 4

die Bedienungsanleitung sorgfaltig lesen.

L
N




Machine Translated by Google

PEZIFIKATION DA

SPEZIFIKATIONSDATEN

Name Server Rack Shelf
Model SPT-U300-1A SPT-U300-2A
Material Cold Roll Steel
Color Black
Installation Width 19"
Standard
Depth 10" 16"
Mounting Height 1U 2U
Max weight
Capacity 22 kg/50 Ibs
Product Size 2ENE x,
(L"W'H) 480*250*43mm 480*410"80mm
Quantity Per
Package G L
Product Weight 3.10Kg 2 45Kg
10 x M6 cage nuts; 6 x M6 cage nuts;
Accessories 10 x M6*12 cross head screws; | 6 x M6*12 cross head screws;
1 x Instruction manual. 1 x Instruction manual.




Machine Translated by Google

SYSTEM ANFORDERUNGEN

y EIA-310-konformes 19-Zoll-Server-Rack/-Gehduse. y Mindestens

1U (fir SPT-U300-1A) und 2U (fur SPT-U300-2A) verfiighare
Platz im Rack/Schrank, um das Regal zu montieren.

y Bei Verwendung eines Racks/Schranks ohne quadratische Befestigungspunkte entlang
Die passenden Befestigungsteile fuir das Rack sind im
erforderlich (siehe Dokumentation des Racks oder wenden Sie sich an den

Hersteller).

INSTALLATION

1. Suchen Sie eine geeignete Stelle im Rack/Schrank, um das Regal zu montieren.

Das Regal selbst benétigt 1U (fir SPT-U300-1A) und 2U (fur SPT-U300-2A)

Platz im Rack/Schrank.

2. Wenn das Rack quadratische Montageldcher verwendet, installieren Sie die mitgelieferten Kafigmuttern

in die quadratischen Montageltcher an den Vorderpfosten des Racks.

3. Legen Sie das Regal in das Rack und richten Sie die Befestigungspunkte an der Vorderseite aus
Halterungen des Regals mit den Befestigungspunkten am Rack (z. B. die

Kafigmuttern, falls verwendet).

4. Befestigen Sie das Regal mit den mitgelieferten Schrankschrauben am Rack.

mit den mitgelieferten Kafigmuttern oder M6-Gewindestangen, die entsprechenden

Es sollten Montageteile fur das Rack verwendet werden.

Stellen Sie sicher, dass die Schrauben richtig angezogen sind und das Regal keine
Bewegung, bevor Sie versuchen, etwas auf das Regal zu stellen.

Beachten Sie die maximale Gewichtsbelastbarkeit des Regals.

VEVOR

TOUGH TOOLS, HALF PRICE
Technischer Support und E-Garantie-Zertifikatwww.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support

Ripiano per rack server

Modello: SPT-U300-1A/SPT-U300-2A

Continuiamo a impegnarci per fornirvi strumenti a prezzi competitivi.

"Risparmia la meta", "Meta prezzo" o qualsiasi altra espressione simile da noi utilizzata rappresenta
solo una stima del risparmio che potresti trarre dall'acquistare determinati strumenti con noi rispetto ai
principali marchi piu importanti e non significa necessariamente coprire tutte le categorie di strumenti

offerti da noi. Ti ricordiamo di verificare attentamente quando effettui un ordine con noi se stai

effettivamente risparmiando la meta rispetto ai migliori marchi principali.



Machine Translated by Google

VEVOR

Ripiano per rack server
TOUGH TOOLS, HALF PRICE

SPT-U300-1A SPT-U300-2A

HO BISOGNO DI AIUTO? CONTATTACI!

Hai domande sul prodotto? Hai bisogno di supporto tecnico? Non esitate a contattarci:
Supporto

tecnico e certificato di garanzia elettronica www.vevor.com/
support

Queste sono le istruzioni originali, leggere attentamente tutte le istruzioni del manuale

prima dell'uso. VEVOR si riserva una chiara interpretazione del nostro manuale d'uso. L'aspetto
del prodotto sara soggetto al prodotto ricevuto. Ti preghiamo di perdonarci se non ti
informeremo piu se sono presenti aggiornamenti tecnologici o software sul nostro prodotto.

)

N 4

Avvertenza: per ridurre il rischio di lesioni, l'utente deve leggere

L
N

attentamente il manuale di istruzioni.




Machine Translated by Google

DATI DI SPECIFICA

PECIFICA DA
Name Server Rack Shelf
Model SPT-U300-1A SPT-U300-2A
Material Cold Roll Steel
Color Black
Installation Width 19"
Standard
Depth 10" 16"
Mounting Height 1U 2U
Max weight
Capacity 22 kg/50 Ibs
Product Size el B ¥
(L"W'H) 480*250*43mm 480*410"80mm
Quantity Per
Package G L
Product Weight 3.10Kg 2 45Kg
10 x M6 cage nuts; 6 x M6 cage nuts;
Accessories 10 x M6*12 cross head screws; | 6 x M6*12 cross head screws;
1 x Instruction manual. 1 x Instruction manual.




Machine Translated by Google

REQUISITI DI SISTEMA

y Server rack/armadietto da 19 pollici conforme EIA-310. y

Almeno 1U(per SPT-U300-1A) e 2U(per SPT-U300-2A) di dispositivi disponibili
spazio nel rack/armadio per montare il ripiano.

y Se si utilizza un rack/armadietto che non utilizza punti di montaggio quadrati
i montanti, sara I'hardware di montaggio appropriato per il rack
richiesto (consultare la documentazione del rack o contattare il

produttore).

INSTALLAZIONE

1. Individuare una posizione adatta nel rack/armadio per montare lo scaffale.

Lo scaffale stesso richiede 1U(per SPT-U300-1A) e 2U(per SPT-U300-2A) di

spazio all'interno del rack/armadio.

2. Se il rack utilizza fori di montaggio quadrati, installare i dadi a gabbia inclusi

nei fori di montaggio quadrati sui montanti anteriori del rack.

3. Posizionare il ripiano nel rack e allineare i punti di montaggio sulla parte anteriore
staffe dello scaffale con i punti di montaggio sul rack (ad esempio, il

dadi in gabbia, se utilizzati).

4. In caso contrario, utilizzare le viti fornite per fissare il ripiano al rack

utilizzando i dadi a gabbia inclusi o i montanti del rack filettati M6, quelli appropriati

€ necessario utilizzare I'hardware di montaggio per il rack.

Assicurarsi che le viti siano serrate correttamente e che il ripiano abbia n
movimento prima di tentare di posizionare qualcosa sullo scaffale. Assicurati di farlo

rispettare la portata massima del ripiano.

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia elettronica www.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia
electrénica www.vevor.com/support

Estante para servidores

Modelo: SPT-U300-1A/SPT-U300-2A

Seguimos comprometidos a proporcionarle herramientas a precios competitivos.

"Ahorre a mitad de precio", "A mitad de precio" o cualquier otra expresién similar utilizada por nosotros solo
representa una estimacion de los ahorros que podria beneficiarse al comprar ciertas herramientas con nosotros en
comparacién con las principales marcas y no significa necesariamente cubrir todas las categorias de herramientas

ofrecidas. por nosotros. Le recordamos que, cuando realice un pedido con nosotros, verifique cuidadosamente

si realmente esta ahorrando la mitad en comparacion con las principales marcas.



Machine Translated by Google

®
U EVOR Estante para servidores

TOUGH TOOLS, HALF PRICE

SPT-U300-1A SPT-U300-2A

¢(NECESITAS AYUDA? jCONTACTENOS!

¢ Tiene preguntas sobre el producto? s Necesita soporte técnico? No dude en contactarnos:
Soporte

técnico y certificado de garantia electronica www.vevor.com/support

Estas son las instrucciones originales; lea atentamente todas las instrucciones del

manual antes de operar. VEVOR se reserva una interpretacion clara de nuestro manual de
usuario. La apariencia del producto estara sujeta al producto que recibi6. Perdone que no

le informaremos nuevamente si hay actualizaciones de tecnologia o software en nuestro producto.

)

N 4

Advertencia: para reducir el riesgo de lesiones, el usuario debe leer

atentamente el manual de instrucciones.

[
N




Machine Translated by Google

DATOS DE ESPECIFICACION

ESPECIFICACION D,
Name Server Rack Shelf
Model SPT-U300-1A SPT-U300-2A
Material Cold Roll Steel
Color Black
Installation Width 19"
Standard
Depth 10" 16"
Mounting Height 1U 2U
Max weight
Capacity 22 kg/50 Ibs
Product Size el B ¥
(L"W'H) 480*250*43mm 480*410"80mm
Quantity Per
Package G L
Product Weight 3.10Kg 2 45Kg
10 x M6 cage nuts; 6 x M6 cage nuts;
Accessories 10 x M6*12 cross head screws; | 6 x M6*12 cross head screws;
1 x Instruction manual. 1 x Instruction manual.




Machine Translated by Google

REQUISITOS DEL SISTEMA

Bastidor/gabinete para servidores de 19 pulgadas compatible
con EIA-310. Al menos 1U (para SPT-U300-1A) y 2U (para SPT-U300-2A) de espacio disponible
espacio en el estante/gabinete para montar el estante.
Si utiliza un bastidor/gabinete que no utiliza puntos de montaje cuadrados a lo largo
los postes, se utilizaran los accesorios de montaje adecuados para el bastidor.
requerido (consulte la documentacion del rack o comuniquese con el

fabricante).

INSTALACION

1. Localice una ubicaciéon adecuada en el bastidor/gabinete para montar el estante.

El estante en si requiere 1U (para SPT-U300-1A) y 2U (para SPT-U300-2A) de

espacio dentro del bastidor/gabinete.

2. Si el bastidor utiliza orificios de montaje cuadrados, instale las tuercas enjauladas incluidas.
en los orificios de montaje cuadrados en los postes frontales del bastidor.

3. Coloque el estante en el bastidor y alinee los puntos de montaje en la parte frontal del
soportes del estante con los puntos de montaje en el bastidor (por ejemplo, el

tuercas enjauladas, si se utilizan).

4. Utilice los tornillos del gabinete proporcionados para fijar el estante al bastidor. Si no,
Utilizando las tuercas enjauladas incluidas o los postes de bastidor roscados M6, el apropiado

Se deben utilizar accesorios de montaje para el bastidor.

Asegurese de que los tornillos estén correctamente apretados y que el estante no tenga
movimiento antes de intentar colocar cualquier cosa en el estante. Asegurese de

observe la capacidad maxima de peso del estante.

VEVOR

TOUGH TOOLS, HALF PRICE
Soporte técnico y certificado de garantia electrénicawww.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat e-gwarancji
Wwww.vevor.com/support

Potka serwerowa

Model: SPT-U300-1A/SPT-U300-2A

Nadal doktadamy wszelkich staran, aby zapewni¢ Paristwu narzedzia w konkurencyjnej cenie.

»Zaoszczedz o potowe”, ,,0 potowe ceny” lub inne podobne wyrazenia uzywane przez nas przedstawiajg jedynie
szacunkowgq oszczednos¢, jakg mozesz zyskac¢ kupujac u nas okreslone narzedzia w poréwnaniu z gldéwnymi najlepszymi
markami i niekoniecznie oznaczajg uwzglednienie wszystkich kategorii oferowanych narzedzi przez nas. Przypominamy,

aby podczas sktadania zaméwienia u nas dokfadnie sprawdzi¢, czy rzeczywiscie oszczedzasz potowe w

poréwnaniu z czotowymi markami.



Machine Translated by Google

VEVOR

Potka serwerowa
TOUGH TOOLS, HALF PRICE

SPT-U300-1A SPT-U300-2A

POTRZEBUJE POMOCY? SKONTAKTU]J SIE Z NAMI!

Masz pytania dotyczace produktu? Potrzebujesz wsparcia technicznego? Prosimy o kontakt:
Wsparcie

techniczne i certyfikat e-gwarancji www.vevor.com/support

To jest oryginalna instrukcja. Przed przystgpieniem do obstugi prosimy o doktadne
zapoznanie sie ze wszystkimi instrukcjami. VEVOR zastrzega sobie jasng interpretacje naszej
instrukcji obstugi. Wyglad produktu zalezy od produktu, ktory otrzymates. Prosze

wybaczy¢ nam, ze nie bedziemy ponownie informowac¢ Panstwa, jesli pojawig sie jakies
aktualizacje technologii lub oprogramowania naszego produktu.

)

N 4

Ostrzezenie — aby zmniejszy¢ ryzyko obrazen, uzytkownik musi

L
N

uwaznie przeczytac instrukcje obstugi.




Machine Translated by Google

DANE SPECYFIKACYJNE
SPECYFIKACJA DA
Name Server Rack Shelf
Model SPT-U300-1A SPT-U300-2A
Material Cold Roll Steel
Color Black
Installation Width 19"
Standard
Depth 10" 16"
Mounting Height 1U 2U
Max weight
Capacity 22 kg/50 Ibs
Product Size 2ENE x,
(L"W'H) 480*250*43mm 480*410"80mm
Quantity Per
Package G L
Product Weight 3.10Kg 2 45Kg
10 x M6 cage nuts; 6 x M6 cage nuts;
Accessories 10 x M6*12 cross head screws; | 6 x M6*12 cross head screws;
1 x Instruction manual. 1 x Instruction manual.




Machine Translated by Google

WYMAGANIA SYSTEMOWE

19-calowa szafa/szafa serwerowa zgodna z EIA-310.  Co
najmniej 1U (dla SPT-U300-1A) i 2U (dla SPT-U300-2A) dostepnych
miejsce w regale/szafce na zamontowanie potki.
Jesli uzywasz stojaka/szafy, ktéra nie ma wzdtuz boku kwadratowych punktéw montazowych
stupkéw, bedzie odpowiedni osprzet montazowy do stojaka
wymagane (sprawdz dokumentacje stojaka lub skontaktuj sie z

producent).

INSTALACJA

1. Znajdz odpowiednie miejsce w regale/szafce, aby zamontowac potke.

Sama potka wymaga 1U (dla SPT-U300-1A) i 2U (dla SPT-U300-2A)

miejsca w regale/szafce.

2. Jesli w stojaku zastosowano kwadratowe otwory montazowe, zamontuj dotgczone nakretki klatkowe
w kwadratowe otwory montazowe w przednich stupkach stojaka.

3. Umies¢ potke w stojaku i dopasuj punkty mocowania z przodu

wsporniki pétki z punktami mocowania na stojaku (np

nakretki klatkowe, jesli sg stosowane).

4. Uzyj dostarczonych srub do szafki, aby przymocowa¢ pétke do stojaka. Jesli nie

uzywajac dotgczonych nakretek klatkowych lub odpowiednich stupkéw z gwintem M6

nalezy zastosowac elementy montazowe do stojaka.

Upewnij sie, ze Sruby sa prawidtowo dokrecone i ze pétka nie ma
ruchu przed préba umieszczenia czegokolwiek na pétce. Pamietaj, aby to zrobic

przestrzega¢ maksymalnego udzwigu potki.

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat e-gwarancjiwww.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat
www.vevor.com/support

Serverrekplank

Model: SPT-U300-1A/SPT-U300-2A

We blijven ons inzetten om u gereedschap tegen een concurrerende prijs te bieden.

"Bespaar de helft", "Halve prijs" of andere soortgelijke uitdrukkingen die door ons worden gebruikt vertegenwoordigt
slechts een schatting van de besparingen die u zou kunnen profiteren als u bepaalde gereedschappen bij ons koopt in
vergelijking met de grote topmerken en betekent niet noodzakelijkerwijs dat deze alle categorieén van aangeboden

gereedschappen omvatten door ons. U wordt er vriendelijk aan herinnerd om bij het plaatsen van een bestelling bij

ons zorgvuldig te verifieren of u daadwerkelijk de helft bespaart in vergelijking met de grote topmerken.



Machine Translated by Google

®
VEVOR Serverrekplank

TOUGH TOOLS, HALF PRICE

SPT-U300-1A SPT-U300-2A

HULP NODIG? NEEM CONTACT MET ONS OP!

Heeft u productvragen? Technische ondersteuning nodig? Neem gerust contact met ons op:

Technische
ondersteuning en e-garantiecertificaat www.vevor.com/
support

Dit is de originele instructie. Lees alle instructies in de handleiding zorgvuldig door

voordat u ermee aan de slag gaat. VEVOR behoudt zich een duidelijke interpretatie van onze
gebruikershandleiding voor. Het uiterlijk van het product is afhankelijk van het product

dat u heeft ontvangen. Vergeef ons alstublieft dat we u niet opnieuw zullen informeren als er
technologie- of software-updates zijn voor ons product.

Waarschuwing-Om het risico op letsel te verminderen, moet de

)

N 4

L
N

gebruiker de handleiding zorgvuldig lezen.




Machine Translated by Google

SPECIFICATIEGEGEVENS

PECIFICATIE D
Name Server Rack Shelf
Model SPT-U300-1A SPT-U300-2A
Material Cold Roll Steel
Color Black
Installation Width 19"
Standard
Depth 10" 16"
Mounting Height 1U 2U
Max weight
Capacity 22 kg/50 Ibs
Product Size el B ¥
(L"W'H) 480*250*43mm 480*410"80mm
Quantity Per
Package G L
Product Weight 3.10Kg 2 45Kg
10 x M6 cage nuts; 6 x M6 cage nuts;
Accessories 10 x M6*12 cross head screws; | 6 x M6*12 cross head screws;
1 x Instruction manual. 1 x Instruction manual.




Machine Translated by Google

SYSTEEM VEREISTEN

y EIA-310-compatibel 19-inch serverrek/kast. y Minstens 1U
(voor SPT-U300-1A) en 2U (voor SPT-U300-2A) beschikbare
ruimte in rek/kast om plank te monteren.
y Bij gebruik van een rek/kast zonder vierkante montagepunten
de palen, het juiste bevestigingsmateriaal voor het rek zal zijn
vereist (raadpleeg de documentatie voor het rack of neem contact op met de
fabrikant).

INSTALLATIE

1. Zoek een geschikte locatie in het rek/kast om de plank te monteren.

Voor de plank zelf is 1U (voor SPT-U300-1A) en 2U (voor SPT-U300-2A) vereist

ruimte in het rek/kast.

2. Als het rack vierkante montagegaten heeft, installeer dan de meegeleverde kooimoeren
in de vierkante montagegaten op de voorste stijlen van het rek.

3. Plaats de plank in het rek en lijn de bevestigingspunten aan de voorkant uit

beugels van de plank met de bevestigingspunten op het rek (bijvoorbeeld de

kooimoeren, indien gebruikt).

4. Gebruik de meegeleverde kastschroeven om de plank aan het rek te bevestigen. Zo niet
gebruik de meegeleverde kooimoeren of M6-rekpalen met schroefdraad, de juiste

Er moet bevestigingsmateriaal voor het rek worden gebruikt.

Zorg ervoor dat de schroeven goed zijn vastgedraaid en dat de plank geen schroeven heeft
beweging voordat u iets op de plank probeert te plaatsen. Zorg ervoor dat u dat doet

houd rekening met het maximale draagvermogen van de plank.

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaatwww.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat
www.vevor.com/support

Serverhylla

Modell: SPT-U300-1A/SPT-U300-2A

Vi fortsétter att vara engagerade i att ge dig verktyg till konkurrenskraftiga priser.

"Spara hélften", "halva priset" eller andra liknande uttryck som anvands av oss representerar
bara en uppskattning av besparingar du kan dra nytta av att kdpa vissa verktyg hos oss jamfort med
de stora toppmarkena och betyder inte nédvandigtvis att tacka alla kategorier av verktyg som erbjuds

av oss. Du paminns vanligen om att noggrant kontrollera nar du gor en bestalining hos oss om

du faktiskt sparar hélften i jamforelse med de frAmsta stora varumérkena.



Machine Translated by Google

VEVOR
Serverhylla

TOUGH TOOLS, HALF PRICE

SPT-U300-1A SPT-U300-2A

BEHOVS HJALP? KONTAKTA OSS!

Har du produktfragor? Behover du teknisk support? Kontakta oss garna: Teknisk support och
e-

garanticertifikat www.vevor.com/support

Detta ar den ursprungliga instruktionen, 1&s alla instruktioner noggrant innan du

anvander den. VEVOR reserverar sig for en tydlig tolkning av var anvandarmanual. Utseendet
pa produkten ar beroende av den produkt du fatt. Ursakta oss att vi inte kommer att

informera dig igen om det finns nagon teknik eller mjukvaruuppdateringar pa var produkt.

)

N 4

Varning - For att minska risken for skada maste anvandaren lasa

L
N

instruktionerna noggrant.




Machine Translated by Google

PECIFIKATION DA

SPECIFIKATIONSDATA

Name Server Rack Shelf
Model SPT-U300-1A SPT-U300-2A
Material Cold Roll Steel
Color Black
Installation Width 19"
Standard
Depth 10" 16"
Mounting Height 1U 2U
Max weight
Capacity 22 kg/50 Ibs
Product Size 2ENE x,
(L"W'H) 480*250*43mm 480*410"80mm
Quantity Per
Package G L
Product Weight 3.10Kg 2 45Kg
10 x M6 cage nuts; 6 x M6 cage nuts;
Accessories 10 x M6*12 cross head screws; | 6 x M6*12 cross head screws;
1 x Instruction manual. 1 x Instruction manual.




Machine Translated by Google

SYSTEMKRAV

§ EIA-310-kompatibelt 19 tums serverrack/skap. y Minst 1U
(for SPT-U300-1A) och 2U (for SPT-U300-2A) tillgangliga
plats i stéll/skap for att montera hylla.
y Om du anvander ett stall/skap som inte anvander fyrkantiga monteringspunkter langs
stolparna, kommer l[Amplig monteringsutrustning for racket att vara
kravs (se dokumentationen for racket eller kontakta
tillverkare).

INSTALLATION

1. Hitta en lamplig plats i hyllan/skapet for att montera hyllan.

Sjalva hyllan kraver 1U (féor SPT-U300-1A) och 2U (for SPT-U300-2A) av
utrymme i hyllan/skapet.

2. Om stativet anvander fyrkantiga monteringshal, installera de medféljande burmuttrarna
i de fyrkantiga monteringshalen pa stativets framre stolpar.

3. Placera hyllan i hyllan och rikta in fastpunkterna pa framsidan av

hyllans fasten med monteringspunkterna pa hyllan (till exempel

burmuttrar, om de anvands).

4. Anvand de medfoljande skapskruvarna for att fasta hyllan i hyllan. Om inte
anvand de medfoljande burmuttrarna eller M6 géangade rackstolpar, lampligt
monteringsutrustning for racket ska anvandas.

Se till att skruvarna &r ordentligt tdragna och att hyllan har nr
rérelse innan du forsoker placera nagot pa hyllan. Se till att gora det
observera hyllans maximala viktkapacitet.

VEVOR

TOUGH TOOLS, HALF PRICE
Teknisk support och e-garanticertifikatwww.vevor.com/support



